1. Which of the following is present in
temporary hard water?
(A) MgSO,
BT CaHCOy),
(C) NaCl
(D) H,80,

Tt 4gEE A @|h THiES A
(A) MgSO,

(B) Ca(HCO,),

(C) NaCl

(D) H,S0,

2. A fuse wire is connected in which wire of a
house wiring?
Live wire
(B} In the neutral wire
(C) In the earth wire
(D) May be connected in any line

QAT A ewfae’-q &ler o Jen
S $3A W

(A) #iZS o™

(B) ehE iR

(C) =R o

(D) @ (@ O™

3. From which Newton's law definition of
force is obtained?
{A) First Law
W Second Law
(C) Third Law
(D) Law of Gravitation

FBBER (B 7 (VT A I ST I 2
(A) 2o sifSTqa
(B) 8w sfesm
(C) vo sfepm
(D) W 34
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4, A sphere, a cylinder and a cone have the
sameradii. The height of the cylinder and the cone
is equal to the diameter of sphere. The ratio of their
respective volumes is

(A) 2:5:86
(B)2:7:3

\;2(2:321

D) 2:9:4

&G (T, a3l (18 9% 93T *gw e
O | (Blie 33 *GE TS (HNAFE IO S A
TSI QTSI WIE LI

(A) 2:5:6
(B 2:7:3
(Cy 2:3:1

ﬁz:gm

5. I am known o him.
The sentence in active voice is—

(A) Heis known to me.

(B) He knows L

(C) He is known by me.
He knows me.

6. The stars will be my guide. Here the
underlined word is a

(A% Noun
(B) Verb

(C) Adverb
(D) Adjective

7. The police ran but could not catch
the thief. Choose the correct alternative to fill in
the gap.

(A) fast
~ fastest
(C) faster

(D} more faster
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8. If x + y + z = 0 then the value of

9. When electrons move from a lower energy
level 1o a higher energy level, energy is
absorbed
(B) emitted
(C) Both (A) and (B)
(D) None of the above

IFEIGES e w1 (U T wid
I & e

(A) CMRE(=A

(B) e =

(©) (A) @ (B) T=}
(D) ToER @A 77

10. Two equations 3x+6y=15and6x+12y=30
have
(A) adefinite solution
infinite soluticns
{C) no solution
(D) two solutions

x + 6y = 15 G 6x+ 12y = 30 TSNS
(A) o3 AR Ty SR

(B) S4) AN SR

(C) I STRIYH &}

(D) %% Y it

11. Find the wrong term:
1,3,8,19,42, 88,184

) {AeF-88
(B) 8
<) 19

(D) 184

12. A dishonest dealer defrauds his seller and
buyer by using forged weights to the extent of
20%. His true gain percent is

(A) 20%
(B) 40%

\/(Q)/M%

D) 50%

a% TPy IR W B WA IR
farFet © (O TTWRR 20% 5917 | S SFSICF
e

(A) 20%
(B) 40%
(C) 44%
(D) 50%



13. If the difference between a proper fraction
and its reciprocal be %, the fraction will be

(A)

(B)

9?pw
\Pﬁ Uﬂ%

(€)

s W B w] s

(D)

I 2O SUD € O ST W
%{f:ﬁ@ﬁﬁfﬁm

(A)
(B)
(C)

(D}

A W W W]

14. Past tense is used to relate an event which
. Choose the correct alternative.

has aiready happened
(B) will happen
(C) is happening now
(D) might happen

JEXPO-23

15. Ifthe area of a square be 441 sq.cmthen the

side of the square 1s

vw’zlcm

(B) 42cm
(C) 7cm
{D) 14cm

@ IR CwaTE 44 BER H
7sfewtas dies ol =1

(A) 215
(B) 42
(C) 7 it
(D) 14 I

16. Bernoulli’sequationforsteady, non-viscous.
incompressible flow of liquid expresses the
(A) conservation of angular momentum.
(B) conservation of density.
conservation of energy.
(D) conservation of momentumn.

Fe, SAE, PG ©9d HAMEE OF
AT R Tt ot 33—
(A) (T SR ATw
(B) WATER FITHF
(C) =ifEa A=
(D) SRR AETHY
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17. If a=@ and b:‘ﬁ’l
J5-1 J5+1

al +ab+b?

az—ab-r-bz)
3

A) 5
N

3
< 3

, then the

=

value of (

o 3
D) 3

. _J§+l
T aH\E—l

al +ab+ b? o
al—ab+b? )’

(A)

¥5-1
—— OIRA
J5+1

g b=

{B)
©)

(D)

wWlth h|w Wl hlw

18. Find the missing number :

3 5 5|
[& [to] 2] [o 3ol 3] L6 |2 5 |
&l 5 2
(A) 15

20
¥ (O 25

(D) 40

19. The quadratic equation 2x* +x + 1 =0 has
(A) real and unequal roots
(B) real and equal roots

‘/Z)/ complex roots

(D) no solution

2t + x + 1 = 0 Tawrs FHieanE
(A) Joel A/EF 6 T
(B) Foran 41¥ @ I

(C) uray FEFT

(D) @I e 7

20. l amu=7?
(A) 1-6605 x 10%g
16605 x 10-%g
(C) 16605 x 105g
(D) 1:6605 x 10¥g

lamu=7?

(A) 16605 x 10%g
(B) 1-6605 x 10%g
() 16605 x 105g
(D) 1:6605 x 10-%°g

21. If the difference of the acute angles of a
right angled triangle be 72°, then the angles are
(A) 80°,8°
81°,9°
(C) 63°,27°
(D) 90°, 18°

G} AT Rrgraa ST giow wed 72°
=@ (@1 463 W 2R

(A) 80°,8°

(B) 81°,9°

(C) 63°,27°

(D) 90°, 18°



22, If 2cos 308 = 1, then the value of O 1s
{A) 10°
(B) 15°

\}Qf 20°

(D) 30°
2cos 36 = 1 T(#, 6-49 Tiw
{A) 10°
(B) 15°
(Cy 20°
{D) 30°

23. Hour is related to Second in the same way
as Tertiary is related to

(A) Ordinary
(B) Secondary
Prmary
(D) Intermediary

24. In the following question, choose the pair/
group of words that show the same relationship as
given at the top of every pair/group.

Mosquito : Malaria

{A) Tobacco : Cancer

(BY Road : Accident
Housefly : Water

(D) Soil : Erosion

25. If cosO+sec8=2then the value of
cos3B+sin? 0 is

‘\y’l

B 2
1
(C) 2

N

@) -~
cosO+secB8=2 A cos’B+sin? 6-43
PICEC]
(A) 1
(B) 2
1
©) 3

NE)
(D} -5

JEXPO-23

26, Which of the following ionic compounds
does not obey octet rule?
(A) NaCl
(B) CaF,
LiH
(D) K,0
ANBz A AT (TN SBE 7> (I 6 1 2
(A) NaCi
(B) CaF,
(C) LiH
(D) K;0

27. 999%x 99 isequal to

(A) 99899
(B) 99989
(C) 99999

98999

999%)&9 -9 WA 7=

{A) 99899
(B) 99989
(C) 99999
(D) 98999

28. If the ratio of cost price and selling price is
10 : 11, then profit percentage is
(A) 9
(B) 11

1
(C)y 10¢

9
\yﬁo
Te] ¢ Rewqrerd Sass 10 11 ==,
Tl 7S
(A) 9
(B) 11
1
(C) 106

(D) 10
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29. I play football in my school football team.
The sentence in passive voice would be—

(A) In my school football team, I play
football.

(B) 1 play football in my school football
team.
Football is played by me in my school
football team.

(D) 1 used to play football in my school
football team.

30. Choose the alternative which is closely
resembles the mirror image of the given
combination.

ANS43Q12
(1) AUZREQIS  (2) SIOERZUA
(3) 2UAEBOSE  (4) [SOMAVR
A) 1

2
3
(D} 4

31. Pointing to a photograph of a boy Suresh
said, “He is the son of the only son of my mother.”
How is Suresh related to that boy?

(A} Brother

(B) Uncle

(C) Cousin
\B7 Father

32, The difference between simple and
compound interests compounded annually on a
certain sum of money for 2 years at 4% per annum
is Rs. 80. The sum is

(A) Rs.40,000

Rs. 50,000
(C) Rs. 60,000
(D) Rs. 70,000

RS 4% 7 T HIFIN 2 IR 37 7T 8
54 oA T 80 BISst -A?
(A) 40,000 5t
(B) 50,000 G
(C) 60,000 Bt
(D) 70,000 5=l

33. Giveme one rupee note. Choose
the correct alternative to fill in the gap.
(A) the
(B} a
(C) an

L 47 both ‘a’ and ‘the’
34. 800 calories of heat given to 10 g of ice at
0°C. The final temperature will be
(A) 0°C
(B) 10°C
80°C
(D) ~10°C

0°C TzeaTdl 10 g I90F 800 cal I &« T
[ e Tasel ¥
(A) 0°C
(B) 10°C
(C) 80°C
(D) —-10°C
35, If 4 x 5% = 500 then the value of x*is
(A) 8
B8) 1
(C) 64
27

4 x5 =5009F x99 TN

(A) 8

B 1

(C) 64

D) 27

36. Iftheforceactingonabodyis50 N,andthe

mass is 5 kg, what can be the acceleration of the
body?

(A) 8 m/s?

(B) 80 m/s?

€7 10 m/s?

(D) 0.8 m/s?

5 kg ©LEA (P 3G TAF SO WEBH <4
4TE TF, BN TACR T IS ?

(A) 8 m/s?

(B) 80 m/s?

(©) 10m/s?

(D) 0.8 m/s



17. Find the missing term:

38.

39,

D-4, F-6, H-8, J-10, ?
(A) B2
L-12
(C) N-12
(D) Q-14

Y8 Y22 xx? x3/x® is equivalent to
(A) 2x .
®) 1 YA

© 3.2

1 have lost the pen which you gave me.

(Rewrite as a compound sentence). The correct
alternative is—

40.

(A) 1have lost the pen given by you.
(B) The pen you gave me is lost.
(C) Though you give a pen, [ have lost it.

\ﬂ)”/ You gave me a pen and [ have lostit.

Look carefully for the pattern and then

choose which pair of numbers comes next.

2825521185 14
115

(B) 107

©) 118

(D) 510

3cm

icm

VLA EA UYL - 2 30
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41, The area of the shaded part is

D 6cm E C

(B) 10sq.cm
(C) 3sq.cm
(D) 4sq.cm

GRS SR CFITe T
D 6 cm E C

A 10 cm B

(A) 63 G
(8) 103+ gifst
(©) 32 i
(D) 43 i

42, Acircleisinscribed in a square. If length of
a side of the square is 10 cm, then length of the
diameter of the circle is

10 cm
(B) Scm
(C) 20em
(D) 102 cm

a5 78wl 3efewrn welfs | sfewram

s g 10 G 2= IoeR o o)

(A) 10 T
(B) 5%
(C) 20 i
(D) 102
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43, Circumcentre of a triangle ABC be O. If
ZBAC =85°, ZBCA =75°then ZOACis
(A) 40°
(B) 20°
70°
(D} 140°

ABC fogrez #R@w O1LBAC=85°,
/BCA =15 TA LOAC-93 TH TR

(A) 40°

(B) 20°

©) 70°

(D) 140°

44. No. of water of crystallization molecules of
Blue vitriol and Green vitriol are respectively
(A) 3and 5
(B) 5and 4
(C) Sand 6

(A) 3985
(B) 59k 4
(C) 5496
(D) SaR7

45. Hiren said to Biren, “Let us discuss the
matter.” Write in indirect speech. The correct
alternative is—

V{%Hi:cn told Biren that they should
discuss the matter.
(B) Hiren suggested to Biren that they
should discuss the matter.
(C) Hirenwished that Biren should discuss
the matter.

(D) Hiren ordered Biren to discuss the
matter with him.

46. In the following question, choose the pair/
group of words that show the same relationship as
given at the top of every pair/group.

Water : Oxygen

(A) Helinm ; Nitrogen
Salt : Sodium

(C) Tree : Plant

(IY) Food : Hunger

47. P earns more than D but not as much as T.
I earns more than P. Who eams least among them?

(AY P
B T
O D

\}pﬁ

48. In a busy road we should be careful about
vehicles passing by. The article in this sentence is

(A) in
(B) by

(D) be

49. Anita sang beautifully in our school
programme. The word ‘beautifully’ is

(A) anoun

{B)} averb

(C) an adjective
an adverb



50. The total interest of a principal in n yrs. at

nr
therate of simple interest of r% per annum s % ;
the principal will be
(A) Rs. 2p

(B) Rs.4p {b

o

R

(€) Rs.g

(D) Rs. %

e r% = YT E A P
nﬁmmﬁqw%fﬂﬁm,sﬁmvﬁw

(A) 2p B
(B) 4p 5/

p

(C) ETW
P

(D) E%‘m

51. Replace the underlined word in the
following sentence with correct phrasal verb.
Sunita resembles her mother.

{A) takeson
takes after

(C) takes with

{D) takes off

52. ABCD is a cyclic quadrilateral. O and AB
are centre and diameter of a circle. If
ZABC =65° ZDAC=40° then /BCD is

(A) 75°
(B) 105°

i15°
(D) 80°

ABCD @3 TQQER O T @¥ O
AB @3l TP LABC=65° /DAC =40° TF
ZBCD 9% WA I

(AY75"

(B) 105°

() 115°

(D) 80°

JEXPO-23

53, If ratio of volume of two spheres be 1 : 8
then the ratio of their area of curved surface is
(A) 1:2
(B) 1:4
1:8
(D) 1:16
D (AR NS WA |2 8 2 Od
AfereTa (AT SRS 2
(A) 1:2
B) 1:4
© 1:8
(D) 1:16

54. In the following scrambled letters are
rearranged 1o form the name of a city, the city so
formed is famous for its:

WILGARO
{A) Locks
(B) Steel plant
Temples
{D} Pottery

55. Each side of an equilateral triangle is 4 cm,
then the height of the triangle is

(A) 443 cm
(B) 16+/3 cm
(C) 83 cm
\'(B{Z\E cm

o Taie T ofeh ar 4 o o=,
faowe Swoia =t

(A) 43 &f

(B) 1643 &

(©) 83 W

(D) 23 &Afa
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56. If the radius of the base of a cone and its
height is doubled, then the volume of the new cone
is how many times the volume of the previous
cone?

(A) 3 times

(B) 4 times

(C) 6times

\J,BT 8 times

3 g7 gRe IR W 9 Tw
et e A =gy wwes I Ad9 *gS
TS

(A) 3@

(B) 4 @4

(C) 629

(D) 8ad

§7. Heistootiredto walk. (Rewriteasacomplex
sentence). The correct alternative is—
(A) Because of tiredness he cannot walk.
(B) He cannot walk being too tired.
{C) He is tired, so he cannot walk.
b(P‘J'( He is so tired that he cannot walk.

58. Find the missing term :
CG, DI, 7. IP, MU
Ay
(B) PO
(C) DB
WP FL
59. lfanobjectis placed symmetrically between
two piane mirrors, inclined at angle of 72 degree,
then total no. of images formed—
(A) 5
Vo
(Cy 2
(D) infinite

72° (FIH WS K6 TNSH AR WY
ARgpyefone wRiEe g7 Toof ofefm tofa
=4y

(A) 5

(B) 4

) 2

(D) =W

12

60. Odometer is to mileage as compass is to
(A) speed
(B) hiking
(C) needle

M direction

61. If a vegetable seller buys 10 lemons for
Rs. 20 and sells 8 lemons for Rs. 20, then the profit
per cent is

25%
(B) 20%
{C) 10%
(D) 24%

e 1% At 20 e 108 &3 fow
20 51 8% e i s 1 s e @
(A) 25%
(B) 20%
10%
(D) 24%

62. King Ashok was one of the greatestkingsin
Indian history. The degree of comparison of the
sentence is

{A) Positive

(B) Comparative
Superlative

(D) Alternative

63. An ion with 16 protons, 18 electrons and
16 neutrons is
(A) C1
(B) Si*
(C) P*
LTS
16 c2ifB=, 1876 Frert <3 1675 S5 Y&
G S =
(A) CI'
(B) Si*
©) P*
(D) §*



64. The indicator should be used for the

neutralization of weak acid and strong alkali—

(A) Methyl red

(B) Methy] orange

Phenolphthalein

(D} Litmus

TG ¢ SIg HIEE e R otie
otz Iezre =91 Ofbe

(A) Feize o

(B) Biaize wtzg

(C) Framo{anfem

(D) oM

65. In the following question, choose one
number which is similar to the numbers in the
given set:

(8, 15, 24)
(A) (6,13,21)

(10. 17, 28)
(C) (11, 18,27)
(D) (13, 20, 32)

66. The diameter of a sphere and right circular
cylinder is 12 cm. If their volumes are equal, then
height of the cylinder will be

(A) 16cm
m cm

(C) 6cm

(D) 24 cm

g3 (% 6 G FIJEPE BTE I
12 Y| T St SIS TWIK TF, SR Gl
Twel TR

(A) 16 G1f¥
(B) 8 it
(C) 6cAf
(D) 24 Y

JEXPO-23

67. In a code language 157 means “mother
alwayslovable”, 619 means “always happy future”
and 952 means “mother very happy”, then what
does the word “future” stand for in the same
language?

(A) 9
6
)1
(D)} Cannot be determined

68. For what value of a, the expression
x*— 20x — g will be a perfect square?
(A) 100
-100
(C) 400
(D} -400

2~4F WH T T 12 — 20x — a TS

AR 7@ e

(A) 100
(B) —-100
(C) 400
(D) -400

69. Which one is solid feam?
{A) Butter
(B) Bread

A(2Y Shaving cream

(D) Ruby glass
@l F e
(A) T

(B) #rEwio

(©) s frm
(D) %R 2=
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70. If centre of a circle be (0, 0} and it passes
through (6, 8) then radius of the circle is
10
B) 5
) 6
(D) 8

(6. 8) RN T 067 (FHA TF (0, 0)
o 3aha e T

(A) 10

(B) 5

(C} 6

(D) 8

71. Theequations 3x+3y=20and 7Tx+7y=30
have
(A) one solution
(B) many solutions
no solution
(D) two solutions

3x + 3y =20 9T Tx + Ty = 30 ANIITCHI
S FA TE

(A) &=l

(B} &

(©) "

(D) 7

72. Choose the one word which can be formed
from the letters of the given word:
RATIONALISATION

(A) NATIONALISTIC
NATIONALIST

(C) SITUATION

(D) REALISATION

73. Itis 8 o'clock my watch. Pick out
the appropriate preposition to fill in the blank.
Ty
(B) at
(C) on
(D) in

74. Thebisectorsof /B and ZC of equilateral
triangle ABC intersect at the point O. The value of
ZBOC is

(A) 60°
(B) 30°
(Cy 90°
ua)/ 120°
ABC 318 fagierd £B @ £C-3 Ffa st
O f34(S SI7=3(@ (M W' | LBOC A TR T3
(A) 60°
(B) 30°
{C) 90°
(D) 120°

75. Arrange the words given below 1n a
meaningful sequence:

1. Key. 2. Door, 3. Lock, 4. Room, 5. Switch on

AT 5.1,2,4,3

(B) 4.2,1,5,3
© 1,3,2,4,5
(D) 1,2,3,5,4

76. If Z("‘i —3)=0 then the value of ¥ is
i=1
M‘S
(B) 35
<) 4
(M 45

@ Y (% -3)=0 =, o -4 A
i=1

a) 3

(B) 35

) 4

(D) 45



77. If ZA = 100° of a cyclic quadrilateral
ABCD. then the value of £C is

(A) 50°
(B) 200°

S 80°

(D) 180°

ABCD J&% 599®d ZA = 100° A
£C-a3 R

(A) 50°
(B) 200°
(C) 80°
(D) 180°

78. It me to hurt others. Choose the
correct alternative.
(A), pain
pains
{(C) is painful
(D) was pain
79. Raj wasborn 29th of June in the year
1993. Fill in the blank with the appropriate word.
(A) iIn
(B) of
on
(D) at

80. In which graph the numerical data is
represented by the height of rectangular bars of
equal widths?

(A) Pie Chart

Bar Graph
(C) Line Graph
(D) Column Chart

@ ETRBLa SRATAIH 2 WS BT
THol g FFH FTH

(A) i 56

(B) ST

(C) R B

(D) ¥ 55

JEXPO-23

81. The approximate number of moiecules
present in 108 cor’ water is
(density of water at 4°C is 1 g/cm’)
(A) 59 x 102

(B) 648 x 10%
©) 36x10%
440 x 102
108 cm> %A TofFe Sog St = o=

(4°C Txoi &S 99y 1 glem®)
(A) 59 x 102
(B) 648 x 10%#
(C) 36 x 10%
(D) 440 x 102

82. Find the missing number:

8 6 3

(i7a)  (336)

3., 9 2 3 9 6 4 9
{A) 140
(B) 150
(C) 200
180
83. iz the device used to convert

electrical energy into mechanical energy.
(A) Galvanometer
(B) Ammeter
Eleclric motor
(D) Potentiometer

i aifere mrinite

(A) steTeiETEeE
B) SuifoR

(C) TElT ibs
(D) (AGAFefREER

=
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84. Number of hydrogen atoms present in
2 moles of methane is
(A) 16 x 6022 x 10
(B) 8 x 6022 x 105
T 2% 6022 x 107
(D) 6022 x 10

2 cten e BoifEre SRugiees) s 3
==

(A) 16 x 6:022 x 10%

(B) 8 x 6-022 x 107

(C) 2 %6022 x 105

(D) 6022 x 10%

85. If x =tan 6 and y = sec 0 then the value of
X

sin B
(B) cos O
(C) sec’®
(D) cosec® 0

2 x = tan 0 978 y = sec § T, O = ~GF MR
(A) sin Y

(B) cos 9O

(C) sec’@

(D) cosec’ 0

86. The circular measure of 60° is
n
(A) 5
L
o3
ki
(<) )
D) =
®) 3
60° (PITIE o AT(SF W I
(A)
(B)
(C)

(D}

EENERIERSIE

16

87. An atom that has one neutron is
{A) Heliom
(B) Boron
Deuterium
(D) Ordinary Hydrogen

<3 REF~ itz st qefb s 25
(A) Tl

(B) @FF

(C) SIGRIN

(D) A4 SRS

88. Cathode rays is
flow of electrons.
(B) flow of protons.
{C) flow of neutrons.
(D} flow of hydrogen atoms.

FIRAT 4P 2=
(A) EEHH GIS |
(B) (2AG7E &S|
(C) Fegma s |
(D) AT TR &S |
89. Arrange inalphabetical orderand find which
word comes in the middle:

Select, Seldom, Selfish, Seller, Send.
Second, Section

M Select

(B) Selfish
(C) Second
(D) Seller

90. r2-2-

then value of atb+c
3 4

c f
— is
7 2c




91. Replace the underlined word in the
following sentence with correct phrasal verb.
1 cannot understand the meaning of the

(A) make out

\)B{ ‘make of

(C) make for
(D} make up

92, If “rain” is called “pink”, “pink” is called
“cloud”, “cloud” is called “water”, “wateris called
“breeze” and “breeze” is called “moon”, then what
do you wash your “hands” with?

(A) water

(B) rain
1ECZE

(D} moon

93. If the median of the numbers arranged in
ascending order: 11,12, 14, 18, (x+4), 30, 32,35,
41 is 24 then the value of x is

(A) 22
BT 20
(C) 24
(D) 23

11, 12, 14, 18, (x + 4), 30, 32, 35, 41
e BT SR | St S 24 T -3 9N
TR

(A) 22

(B) 20

(C) 24

(D) 23

JEXPO-23

94, The inner diameter of the ring-shaped iron
plate is 20 cm and the outer diameter is 22 cm.
Therefore iron in the ring is

(A) 22sg.cm
(B) 44 sg. cm

66 s5q. cm
\}(g; Bgsg.cm
b IFAPFS LT AT WA 20 G
«7e, 323 22 GIf | Feaibes @R i it
(A) 223 oY
(B) 44 3+ i
() 663 i
(D) 883 &

95, Ify—zaci, z—xoc—l- and x—yoclthen
x y z

sumn of the three constants of variation is
AT 0
(B) 1
(C) -1
D) 2

1 l
y—zacl,z—xcx:— IR x—yx— A
x y z

(e &3S Tonoq TS TT
A) 0
(B) 1
€ -1
(D) 2
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96. The current price of a machine is Rs. 2p. If
its cost decreases every year by 2r%, then the cost
of the machine after 2n years is

L.
(4) Bs p[ 100]

r n
2p|1-—
o v 2r{1-2)

r Zn
. 1-—
(C) Rs. P( 50]

2n

r

. 2pl1-—
\)fﬁks. P( 50]

T e T$TW 5 2p Bid ) il
I ofe T8 2r% W@ TH I 20 I W
=Pz I8 =1
, n
{A) P[l—m) iG]
r n
(B) ZP[I_EJ il

2n
,
=) l___
(©) p[ SOJ |

2n
¥
2p|1——
(D) p( 50] i

97. Fill in the blank with correct alternative.
Most people are fond mystery stories.

\/(A{ of
(B) in
(C) with
(D) on

98. Choose the correct alternative to fill in the
gap-
T have him for a long time.
{A) know
(B) knew
~ known
(D) to knew

99, The specific gravity of Iron is 7-8. The
value of density of Iron is
(A) 78 gfcc
(B) 780 g/cc
7800 kg/m’
(D) 78000 kg/m’

@R Sirsies 6wy 7-8 | IR 990ed WA
T3

(A) 78 g/cc

(B) 780 g/cc

(C) 7800 kg/m’

(D) 78000 kg/m>

100. The man said to me, “What is your name 7"
Change the statement into indirect speech. The
correct alternative is—

(A) The man asked to me what my name
Wwas.

\)B’I"l‘ he man asked me what my name
was.

(C) The man asked if it was my name.
(D) The man wants 1o know my name.

[ X3



